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JIEAT. K 4 ouT IN G HC NET * W [NVEVAR d
1 BIEZRE 46 42 88 19.0 69.0
2 ABRE= 42 43 85 15.0 70.0
3 Y& H o= 45 45 90 20.0 70.0
4 BEHET 48 41 89 18.0 71.0
5 HlRAME 43 43 86 14.0 72.0
6 tEFE A 43 45 88 16.0 72.0
(E3=F 45 42 87 14.0 73.0
8 [LIEHELME 45 48 93 20.0 73.0
9 [W)IIF5H 45 43 88 14.0 74.0
10 #a)113F0 43 16 89 15.0 74.0
11 ARHEARAT 46 46 92 18.0 74.0
12 REAWF 44 48 92 18.0 74.0
13 S e 45 47 92 17.0 75.0
14 WAMEE 48 44 92 17.0 75.0
156 R¥EHi 45 49 94 19.0 75.0
16 HEppEps 49 45 94 19.0 75.0
17 ZEAFH 44 16 90 14.0 76.0
18 TEISHE 48 16 94 18.0 76.0
19 HEE 47 44 91 14.0 77.0
20 AT 44 47 91 14.0 77.0
21 IB¥fE— 44 49 93| 16.0 77.0
22 FEERT 46 48 94 16.0 78.0
23 79)IHEE 48 16 94 16.0 78.0
24 RiEEW 49 16 95 17.0 78.0
25 R HBUA 45 50 95 17.0 78.0
26 RS 49 44 93 14.0 79.0
27 WEAR SR — 53 42 95 14.0 81.0
28 BFFTFOE] 54 48 102 20.0 82.0
29 LB 16 53 99 16.0 83.0
30 HFREZ 50 49 99 15.0 84.0
31 [IABEYR 49 51 100 14.0 86.0
32 =HFER 49 53 102 16.0 86.0
33 FaARHEIF 61 61 122 20.0 102.0




